
NAME
Multiplicotion

32il
x2

3254
x20

3254
x200

6508 65080

If 2 x 3254:6508. then 20 x3254:

If 2 x 3254:6508. then 200 x3254:

650800

3254
x213

9762 3 x3254
32540 10x3254

650800 200x 3254
693102

213x3254:

c

428r
x3

408
x3 1 6

4231
x2 I3

3090
x7 52

37 5
x29 t

2.  4L6
x2 13

Multiply.

a,

l .  316
x2

316
x27 5

2t7 5
x243

b

316
x200

483
x2tt

32r6
x2O8

d
42BT
x300

2r9'
x5 0 3

3456
xL23

6613
x342

Check your answers. Record your score.

23

Perfect score: 16 My score:

,1


